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(@)612—|—2ab—|—b2 = (a+b)?

@ x*+ (a+b)x+ab= (x+a)(x+b)
® a® + 3a2b + 3ab® + b® = (a + b)*
@ a®+b® = (a+b) (a® - ab + b?)

® a*-b* = (a-b) (a® +ab+b?)
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o]zl 479] Fo]9] Yol g2
a?+ab+ab+b?>=a*+2ab+b> ---O

a+b A ZALEE TE 4 9, o] If
(a+b)2 .©
A, ©A a2 + 2ab + b2 = (a + b)?
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2. @ -4b? & 5-Eofsh?

D (a-2b)? @) (a +26) (a-20)
® (a+Db)(a—4b) @ (a+2)(b-2)
® (a+2b)*

a2 — 4b? = a? - (2b)*
= (a+2b) (a - 2b)
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3. (x-3)(2x+2) 2 oW A2 AR5t Aolck. o]u] of| 4.9

@ 2x2 —4x-2 @2x2—4x—6 ® 2x2-5x-6

@ 2x2 —4x+3 ® 2x2 —4x+1

(x-3)(2x+2) =2x2+(-6+2)x-6
=2x*-4x-6




3<x<5

32 < (Yx)2 <52 olBg

9<x<25

wr2bA x = 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23,
24 o]t}




5. o2 F Ao gAE H IS A F 24 &2 AL
D V34+7<9 @ VI5- V8 <4- 8
@w/l_—5<«/1_—x/% @ V50+7>14

® -V5-3>-V6-3

® (VIT-5) - (VII - V26) = -5+ V26 = - VZ5+ V26 > 0
S VIT=5> V11— V26
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T B7] % @(x—y) + 2ab(y - x) O AHE BE 12 ALY
=
@ a(y+x) © a(x-y)(a-b)
© ala-2b) ® x(a-2b)
® x-y ® (x-y)(a-2b)
® 9.6 @ 060 ® ©60
@eeo 6 ©0.0

a*(x =y) + 2ab(y - x) = a*(x = y) - 2ab(x - y)
= a(x - y)(a - 2b)
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x=3+2V2, y=3-2vV2 & uf, x2 —y? 2] & F5pH?

O 24 @ -24 ® 0
@ -24+2 @24\/5

B

x2—y2
=(x+y)(x-y)
=(34+2V2+3-2V2)(3+2V2-3+2v2)
=6x4V2 =242
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312
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10. 5<a<b @, la-b)?2-/(5-a)2+ /(b-5)? & 3]

SHA?
DO -2a+12 @—2a+2b ®0
@ 2a-12 ® 2b-12

B

a<boAXa-b<0

5<alA5-a<0

5<bolAb-5>0

(FolR A) =-(a-b)-{-6-a)} + (b-5)
=-a+b+5—-a+b-5
= —-2a+2b




11. xsa}wowﬂ%y—x:;ﬂ Ao AT} x = VT AW, y B x 2

st A 227

QAR A
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7 8
L 2 2
®2x ®8x ®7x @ 2x ® 3x
1 V78 8
y=x+ - \/‘+W V7 + - 7«/‘ =




12, L2 st [ )b apAgel 97 Aw el ghe

vy @) ® @ 6 ® 4

%x2—3x+|:|= %(x2—6x+2|:|)
L J=9 .[J=




13, xofl Bt oJZA (x—a+2)(x + 5 - 2a) 7} FHAFA 0] 7] 1
a o] 3t FoFA?

@ -3 @ -1 @1 @ 2 @3

—a+2=5-2a
La=3




14.

0<x<1Qu, ohg A WESHE x o] 2 Fopu?

1 1
0<x<l,x—=-<0,x+->0°]2=2
X X

34/ (—x)% - <x+§>2—4+ (x—§)2+4:5




15, f(n) = b A, 1)+ f(2)+(3)+ -+ £(8) O] LI

T Vntli+ yn
@2 @ 3 ® 2v2-1
@ 2v2+1 ® 32

yrolng
+ V3- V24 -+ V9- V8




